MAIDSTONE BOROUGH COUNCIL

MINUTES OF THE MEETING OF MAIDSTONE BOROUGH COUNCIL HELD AT THE TOWN HALL, HIGH STREET, MAIDSTONE ON 25 FEBRUARY 2015

Present: Councillor Thick (The Mayor) and

Councillors Ash, Black, Mrs Blackmore, Burton, Butler, Chittenden, Collins, Cox, Cuming, Daley, Ells, English, Garland, Mrs Gooch, Greer, Mrs Grigg, Harper,

Harwood, Mrs Hinder, Hogg, Mrs Joy, Long, McKay, McLoughlin, Moriarty, B Mortimer, D Mortimer, Naghi, Newton, Paine, Mrs Parvin, Paterson, Perry, Pickett, Powell, Mrs Ring, Mrs Robertson, Ross, Round, Sams,

Sargeant, Mrs Stockell, Vizzard, B Watson,

de Wiggondene, Willis, J.A. Wilson and Mrs Wilson

110. COUNCILLOR PETER PARVIN

The Council stood in silence for one minute in memory of Councillor Peter Parvin who died on 27 January 2015.

111. PRAYERS

Prayers were said by Andrew Royal, United Reformed Church Minister.

112. APOLOGIES FOR ABSENCE

It was noted that apologies for absence had been received from Councillors Fissenden, Munford, Springett and P Watson.

113. DISPENSATIONS

There were no applications for dispensations.

114. DISCLOSURES BY MEMBERS AND OFFICERS

The Chief Executive, on behalf of herself and all other members of staff present, disclosed an interest in the report of the Member and Employment and Development Panel relating to the Pay Policy Statement.

115. DISCLOSURES OF LOBBYING

All Members present stated that they had been lobbied regarding the question to be asked of the Leader of the Council by Mr Dave Witcher.

116. EXEMPT ITEMS

RESOLVED: That the items on the agenda be taken in public as proposed.

117. MINUTES OF THE MEETING OF THE BOROUGH COUNCIL HELD ON 10 DECEMBER 2014

RESOLVED: That the Minutes of the meeting of the Borough Council held on 10 December 2014 be approved as a correct record and signed.

118. MAYOR'S ANNOUNCEMENTS

The Mayor and representatives of the five political groups paid tribute to Councillor Peter Parvin who passed away in January.

The Mayor then updated Members on recent/forthcoming events.

Following the announcements, Councillor Brian Mortimer presented a shield to the Mayor from the village of Montauban de Picardie which was adopted by the Borough after the First World War.

Note: Councillor Garland entered the meeting during the Mayor's announcements.

119. PETITIONS

Mrs Susan Hogg presented a petition in the following terms:

We, the undersigned, wish our park at Bridge Mill play area to remain with the bark surfacing, and not to be replaced with rubber surfacing, and do not want this play area to close.

In presenting the petition, Mrs Hogg said that:

- When the Bridge Mill play area was replaced a few years ago, it was
 designed so that the equipment enhanced the natural woodland
 setting by having a chip bark surface surrounded by wooden edges.
 The play area was well used by residents of Tovil and adjoining Wards.
 The purpose of the petition was to inform the Maidstone Borough
 Council Parks and Open Spaces Team that residents did not wish the
 bark surfacing to be replaced with rubber surfacing and did not want
 the play area to close.
- Local residents first heard about the proposal to replace the bark surfacing and the possibility of the play area being closed at a meeting of the Parish Council in January 2015 and through a local newspaper. The estimate which had been obtained was only to replace some of the surfacing and did not include the cost of taking away the old surfacing. The use of rubber surfacing elsewhere had resulted in the need for ongoing repairs due to the surfacing lifting up and breaking. There had been no official complaints about the use of bark surfacing at the Bridge Mill play area.

During the discussion on the petition, Members made a number of points, including:

- Funding for the renewal of the play area was raised by Councillor Derek Mortimer in conjunction with Tovil Parish Council some four years ago and included a Government grant obtained through Kent County Council and Section 106 monies from the Borough Council. Bark surfacing was chosen at that time as it was in keeping with the woodland surroundings. Also at that time there was a discussion about the possibility of ownership of the play area being transferred, in due course, from the Borough Council to the Parish Council. Since then, there had been a considerable reduction in the funding made available by the Borough Council to the Parish Council.
- A meeting was held recently between the Borough Council and the Parish Council to discuss the maintenance and future ownership of the play area. At that meeting, the Borough Council asked the Parish Council to consider supporting and helping to finance the change from bark surfacing to rubber surfacing which was considered to be more economic from a maintenance point of view. The view locally was that this change would be unacceptable.
- The play area was probably unique in design and style and one of the best medium sized play areas in Maidstone. The petition demonstrated the value placed on the excellent facility by parents and children.
- There were no plans to close this play area, which was classified as a strategic play area. The equipment was in good condition having been replaced some four years ago. The main issue related to the surfacing. The Borough Council maintained approximately 70 play areas with a total annual maintenance budget of around £28,000. The maintenance budget was not only for safety surfacing, but also for repairing the equipment and replacing items such as swing seats, fencing and gates. The petitioners wanted to see the bark surfacing retained, but it was very expensive to maintain and the cost of maintaining it formed a significant part of the overall maintenance budget. Discussions were taking place with the Parish Council and it was hoped that agreement could be reached regarding a cost effective solution.
- The information provided about the annual cost of maintaining the bark surface at Bridge Mill Way was different from that held by the Parish Council and should be checked by the local Members. It was necessary to ensure that the estimates obtained were accurate and comparable given experience to date about the expected life span of the alternative surface.
- The Parish Council spent approximately £800 last year topping up the bark surfacing and keeping the play area safe. The estimated cost of the new surfacing was £30k-£40k.
- A way forward might be the setting up of a Trust which would be able to use its charitable status to apply for funding for the upkeep of the play area and new equipment.

 It was anticipated that the Maidstone Play Strategy – A Strategy for Outdoor Equipped Play Areas would be submitted to the Cabinet Member for approval next month. It would cover two areas; a long term strategy and an immediate improvement programme, and had been the subject of extensive consultation.

RESOLVED: That the petition and the points raised in the debate be referred to the Cabinet Member for Community and Leisure Services for consideration.

120. QUESTION AND ANSWER SESSION FOR MEMBERS OF THE PUBLIC

Questions to the Leader of the Council

Mr Fergus Wilson asked the following question of the Leader of the Council:

Should adverse reports about Maidstone Borough Council be reported to Members to be debated or should they be buried?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the UKIP Group, and Councillor McKay, the Leader of the Labour Group, then responded to the question.

Mr Wilson asked the following supplementary question of the Leader of the Council:

Is it the intention to report CHI/29UH/HIN/20124/0005 (24 Hedley Street) to Members?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the UKIP Group, and Councillor McKay, the Leader of the Labour Group, then responded to the question.

Mr Elliot Dean asked the following question of the Leader of the Council:

The Local Plan is a document which I have heard described as key, vital and "should have been done yesterday". The Council's failure to deliver this key document has left the local economy, employment and the environment (to name a few) in a disastrous state. Can you explain why you have failed to deliver a Local Plan?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the

UKIP Group, and Councillor Harper, on behalf of the Leader of the Labour Group, then responded to the question.

Mr Elliot asked the following supplementary question of the Leader of the Council:

Bearing in mind this Council must demonstrate best value at all times, can you explain why external mediators are being used to deliver the Local Plan?

The Leader of the Council responded to the question and provided a further response having clarified the issue raised.

Councillor Mrs Wilson, the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the UKIP Group, and Councillor Harper, on behalf of the Leader of the Labour Group, responded to the question.

Mr Dave Witcher asked the following question of the Leader of the Council:

Anyone who is taken to court for an alleged debt would expect to receive an original court sealed and signed liability order from a magistrates court and NOT just a notification sent from the Council.

It goes without saying that this matter clearly affects an increasing number of people who are becoming aware that a transparent due process operating between the Council and the magistrates courts does not appear to exist; resembling an in-house system.

When one approaches the Council they are directed to the magistrates court for the liability order and vice versa, nor do the civil procedure rules seem to apply, yet the criminal procedure rules are applied in their place to obtain a un-court sealed summons by the Council when it is in fact a civil matter NOT criminal matter; the summons are also not sealed by the magistrates court.

Is the Council aware that Section (3) of The Council Tax Administration and Enforcement Act states the following 'The amount in respect of which a liability order is made is enforceable in accordance with this Part; and accordingly for the purposes of any of the provisions of Part III of the Magistrates' Courts Act 1980 (satisfaction and enforcement) it is NOT to be treated as a sum adjudged to be paid by order of the court.'

Does the Council have a transparency policy on Council Tax enforcement and do they follow due process to obtain and provide a properly constituted magistrates court sealed liability order for the people who the Council allege owe Council Tax and is this a sum adjudged to be by order of the magistrates court?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the UKIP Group, and Councillor McKay, the Leader of the Labour Group, then responded to the question.

Question to the Cabinet Member for Planning, Transport and Development

Ms Geraldine Brown asked the following question of the Cabinet Member for Planning, Transport and Development:

Leaving to one side the development requirements for 963 new care home places, will the Borough's current residents welcome another 18,600 homes, implying another 30,000 or so residents?

The Cabinet Member for Planning, Transport and Development responded to the question.

Councillor Harwood, on behalf of the Leader of the Opposition, Councillor Mrs Gooch, the Leader of the Independent Group, Councillor Powell, the Leader of the UKIP Group, and Councillor McKay, the Leader of the Labour Group, then responded to the question.

The time allowed within the Council's Procedure Rules for questions by members of the public having expired, the Mayor announced that the remaining questions would be dealt with by written answers.

Note: To listen to the responses to these questions, please follow this link:

http://live.webcasts.unique-media.tv/mbc243/interface

121. OUESTIONS FROM MEMBERS OF THE COUNCIL

Question to the Leader of the Council

Councillor Sargeant asked the following question of the Leader of the Council:

In view of recent revelations from other authorities can we ensure that the interactions of Maidstone Borough Council with vulnerable residents and children are handled appropriately?

The Leader of the Council responded to the question.

Note: To listen to the response to this question, please follow this link:

http://live.webcasts.unique-media.tv/mbc243/interface

122. <u>CURRENT ISSUES - REPORT OF THE LEADER OF THE COUNCIL,</u> <u>RESPONSE OF THE GROUP LEADERS AND QUESTIONS FROM COUNCIL</u> MEMBERS

There was no report from the Leader of the Council on this occasion.

123. REPORT OF THE CABINET HELD ON 17 DECEMBER 2014 - UPDATE ON MOTION REFERRED TO THE CABINET BY COUNCIL

It was moved by Councillor Mrs Blackmore, seconded by Councillor Mrs Ring, that the recommendation of the Cabinet relating to a motion referred to it by the Council be approved.

RESOLVED: That the action taken by the Cabinet in respect of the motion referred to it by the Council relating to the Waterside Park at Junction 8 decision and the update by Officers be noted.

124. REPORT OF THE CABINET HELD ON 11 FEBRUARY 2015 - DRAFT STRATEGIC PLAN 2015-2020

It was moved by Councillor Mrs Blackmore, seconded by Councillor Greer, that the recommendations of the Cabinet relating to the draft Strategic Plan 2015-2020 be approved.

RESOLVED:

- 1. That the draft Strategic Plan 2015-2020, attached as Appendix A to the report of the Cabinet, be approved.
- 2. That delegated authority be given to the Chief Executive, in consultation with the Leader, to make minor amendments to the document as required.

Voting: 29 - For 1 - Against 19 - Abstentions

125. <u>REPORT OF THE CABINET HELD ON 11 FEBRUARY 2015 - BUDGET STRATEGY 2015/16 ONWARDS</u>

Before calling upon Councillor Mrs Blackmore to move the recommendations of the Cabinet relating to the Budget Strategy 2015/16 onwards, the Mayor reminded Members that, in accordance with Council Procedure Rule 16.4, each Group Leader could speak for up to ten minutes when moving his/her Group's budget proposals.

It was moved by Councillor Mrs Blackmore, seconded by Councillor McLoughlin, that the recommendations of the Cabinet relating to the Budget Strategy 2015/16 onwards be approved.

<u>Amendment</u> moved by Councillor Mrs Wilson, seconded by Councillor Harwood:

That the recommendations of the Cabinet to the Council relating to the Budget Strategy 2015/16 onwards be approved subject to the amendment of recommendation 5 to read:

That the revenue estimates for 2015/16 incorporating the growth and savings items, as set out in Appendix A to the report of the Cabinet, be agreed with the following amendments:

- a) That recognition of the service growth required to provide new housing is set out in the Medium Term Financial Strategy through the provision of a budget of £40,000 to support the new service. For the budget year 2015/16 funding will be provided from the set aside of the projected under spend for 2014/15 that Cabinet has already approved for such use. For future budget years 2016/17 onwards this would be resourced from the income generated by the service.
- b) That a sum of £50,000 is set aside from the business rates growth identified in the 2015/16 budget to enable survey and feasibility work to be completed on one or more areas of the town centre that would benefit from regeneration and would provide a catalyst for further regeneration activity in the town.
- c) That 50% of the surplus generated from the litter enforcement activity of the Council be directed into new litter awareness work through a joint arrangement between the waste team and the community development team and that this work be focused on campaigns with school age children and young adults.

As a consequence of the Local Authorities (Standing Orders) (England) (Amendment) Regulations 2014, a named vote was taken on the amendment as follows:

FOR (22)

Councillors Chittenden, Cox, Daley, English, Mrs Gooch, Mrs Grigg, Harwood, Mrs Joy, Long, Moriarty, B Mortimer, D Mortimer, Naghi, Newton, Paterson, Pickett, Mrs Robertson, Sams, Vizzard, B Watson, Willis and Mrs Wilson

AGAINST (19)

Councillors Mrs Blackmore, Burton, Butler, Collins, Cuming, Garland, Greer, Mrs Hinder, Hogg, Paine, Mrs Parvin, Perry, Mrs Ring, Ross, Round, Mrs Stockell, Thick, de Wiggondene and J.A. Wilson

ABSTAINED (8)

Councillors Ash, Black, Ells, Harper, McKay, McLoughlin, Powell and Sargeant

AMENDMENT CARRIED

The substantive motion was then put to the vote.

As a consequence of the Local Authorities (Standing Orders) (England) (Amendment) Regulations 2014, a named vote was taken on the substantive motion as follows:

FOR (45)

Councillors Ash, Black, Mrs Blackmore, Burton, Butler, Chittenden, Collins, Cox, Cuming, Daley, Ells, English, Mrs Gooch, Greer, Mrs Grigg, Harper, Mrs Hinder, Mrs Joy, Long, McKay, McLoughlin, Moriarty, B Mortimer, D Mortimer, Naghi, Newton, Paine, Mrs Parvin, Paterson, Perry, Pickett, Powell, Mrs Ring, Mrs Robertson, Ross, Round, Sams, Sargeant, Mrs Stockell, Thick, Vizzard, B Watson, de Wiggondene, Willis and Mrs Wilson

AGAINST (3)

Councillors Garland, Hogg and J.A. Wilson

ABSTAINED (1)

Councillor Harwood

SUBSTANTIVE MOTION CARRIED

RESOLVED:

- 1. That the future production of the budget book should be linked to the Council's priorities as detailed in the Strategic Plan and as set out in Appendix A to the report of the Cabinet (circulated separately).
- 2. That the revised revenue estimates for 2014/15, as set out in Appendix A to the report of the Cabinet, be agreed.
- 3. That the minimum level of General Fund Balances be set at £2m for 2015/16.
- 4. That the proposed Council Tax of £235.71 at Band D for 2015/16 be agreed.
- 5. That the revenue estimates for 2015/16 incorporating the growth and savings items, as set out in Appendix A to the report of the Cabinet, be agreed with the following amendments:
 - a) That recognition of the service growth required to provide new housing is set out in the Medium Term Financial Strategy through the provision of a budget of £40,000 to support the new service. For the budget year 2015/16 funding will be provided from the set aside of the projected under spend for 2014/15 that Cabinet has already approved for such use. For future budget years 2016/17 onwards this would be resourced from the income generated by the service.

- b) That a sum of £50,000 is set aside from the business rates growth identified in the 2015/16 budget to enable survey and feasibility work to be completed on one or more areas of the town centre that would benefit from regeneration and would provide a catalyst for further regeneration activity in the town.
- c) That 50% of the surplus generated from the litter enforcement activity of the Council be directed into new litter awareness work through a joint arrangement between the waste team and the community development team and that this work be focused on campaigns with school age children and young adults.
- 6. That the Statement of Earmarked Reserves and General Fund Balances, as set out in Appendix A to the report of the Cabinet, be agreed.
- 7. That the Capital Programme, as set out in Appendix A to the report of the Cabinet, be agreed.
- 8. That the funding of the Capital Programme, as set out in Appendix A to the report of the Cabinet, be agreed.
- 9. That the Medium Term Financial Strategy, as set out in Appendix A to the report of the Cabinet, be agreed.
- 10. That the Strategic Revenue Projection, as set out in Appendix A to the report of the Cabinet, be endorsed as the basis for future financial planning.
- 11. That it be noted that the Council's Council Tax Base for the year 2015/16 has been calculated as 56974.3 in accordance with Regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 1992.
- 12. That it be noted that in accordance with Government guidance the yield from business rates has been calculated as £58,252,075.
- 13. That it be noted that the individual Parish Area Tax Bases set out in Appendix B are calculated in accordance with Regulation 6 of the Regulations, and are the amounts of the Council Tax Base for the year for dwellings in those parts of the Council's area to which a special item relates.
- 14. That the distribution of Local Council Tax Support funding to Parish Councils, as set out in Appendix C, be approved.
- 15. That the Council Tax requirement for the Council's own purposes for 2015/16 (excluding Parish precepts) is £13,429,412.
- 16. That the following amounts now be calculated by the Council for the year 2015/16 in accordance with Sections 31A, 31B and 34-36 of the

Local Government Finance Act 1992 as amended by the Localism Act 2011:

(a)	£80,506,490	being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the Act taking into account all precepts issued to it by Parish Councils.
(b)	£65,683,120	being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the Act.
(c)	£14,823,370	being the amount by which the aggregate at 16(a) above exceeds the aggregate at 16(b) above, calculated by the Council, in accordance with Section 31A(4) of the Act as its Council Tax requirement for the year. (Item R in the formula in Section 31A(4) of the Act).
(d)	£260.18	being the amount at 16(c) above (Item R), all divided by the figure stated at 11 above (Item T in the formula in Section 31A(4) of the Act), calculated by the Council, in accordance with Section 31B(1) of the Act, as the basic amount of its Council Tax for the year (including Parish precepts).
(e)	£1,393,958	being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the Act (as per the attached Appendix B).
(f)	£235.71	being the amount at 16(d) above less the result given by dividing the amount at 16(e) above by the Tax Base given in 11 above, calculated by the Council, in accordance with Section 34(2) of the Act, as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which no Parish precept relates.

17. That it be noted that for the year 2015/16 Kent County Council, the Kent Police & Crime Commissioner and the Kent & Medway Fire & Rescue Authority have stated the following amounts in precepts issued to the Council, in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of dwellings shown below:

<u>Valuation</u> <u>Bands</u>	KCC £	KPCC <u>£</u>	KMFRA <u>£</u>
Α	726.66	98.10	47.10
В	847.77	114.45	54.95
С	968.88	130.80	62.80
D	1,089.99	147.15	70.65
E	1,332.21	179.85	86.35
F	1,574.43	212.55	102.05
G	1,816.65	245.25	117.75
Н	2,179.98	294.30	141.30

18. That, having calculated the aggregate in each case of the amounts at 16 (d), and 17 above, the Council, in accordance with Section 30 (2) of the Local Government Finance Act 1992, hereby sets out in Appendix D, the amounts of Council Tax for the year 2015/16 for each of the categories of dwellings shown.

Note: Councillor Powell left the meeting after consideration of this item.

126. ADJOURNMENT OF MEETING

The meeting was adjourned from 8.55 p.m. to 9.05 p.m.

127. REPORT OF THE CABINET HELD ON 11 FEBRUARY 2015 - TREASURY MANAGEMENT STRATEGY 2015/16

It was moved by Councillor Mrs Blackmore, seconded by Councillor Black, that the recommendation of the Cabinet relating to the Treasury Management Strategy 2015/16 be approved.

RESOLVED: That the Treasury Management Strategy 2015/16 and related Appendices, all attached to the report of the Cabinet, be adopted.

128. REPORT OF THE MEMBER AND EMPLOYMENT AND DEVELOPMENT PANEL HELD ON 21 JANUARY 2015 - PAY POLICY STATEMENT

It was moved by Councillor McLoughlin, seconded by Councillor Black, that the recommendations of the Member and Employment and Development Panel relating to the Pay Policy Statement be approved.

RESOLVED:

1. That the Pay Policy Statement, attached as Appendix B to the report of the Member and Employment and Development Panel, be approved for publication on the Council's website after 31 March 2015.

2. That the Chief Executive be given delegated authority to update the Pay Policy Statement with the pay figures at the end of the financial year, prior to publication.

129. ORAL REPORT OF THE ECONOMIC AND COMMERCIAL DEVELOPMENT OVERVIEW AND SCRUTINY COMMITTEE HELD ON 24 FEBRUARY 2015

It was noted that there was no report arising from the meeting of the Economic and Commercial Development Overview and Scrutiny Committee held on 24 February 2015.

130. NOTICE OF MOTION - LIVING WAGE

The following motion was moved by Councillor Harper, seconded by Councillor McKay:

As a result of the cost of living crises since 2010, wage levels have not generally kept pace with prices. This is more exacerbated for lower earners.

The independently verified Living Wage represents the minimum hourly wage someone can live on at a basic level and ensures that those in full-time work are guaranteed a decent standard of living.

The Maidstone economy has a large element of lower paid unskilled jobs.

To demonstrate THIS Council's commitment to the Living Wage, the Council agrees the following:

- 1. To note that the Council employs all its staff above the level of the Living Wage and to advertise the fact to encourage other employers as a good example;
- 2. To investigate with the Living Wage Foundation the implications of being an accredited Living Wage Employer and to receive a report back to a future Council Meeting on this;
- 3. To ask the Council's Officers to undertake an audit of all Council contractors and sub-contractors to establish if they pay any staff below the Living Wage;
- 4. If any contractor/sub-contractor is paying below the Living Wage, to review the impact of bringing their lowest paid staff to the Living Wage;
- 5. To investigate the policy of the Royal Borough of Greenwich to offer discounted business rates to local companies who commit to paying their workers the Living Wage. This is aimed to encourage local businesses looking at making the change to the Living Wage, to supporting local communities and the local economy in general;

- 6. To apply the Living Wage to apprentices in its employment (as the young should not be discriminated against); and, where they are paid less currently, to prepare an action plan on how this will be remedied and also to undertake a similar exercise with its contractors and sub-contractors; and
- 7. To recommend that Kent County Council and other members of the Mid-Kent Consortium take similar measures.

RESOLVED: That the motion, having been moved and seconded, be referred to the Cabinet Member for Corporate Services, as the Cabinet Member responsible, for consideration.

131. <u>REPORT OF THE HEAD OF FINANCE AND RESOURCES - MEMBERS'</u> ALLOWANCES

It was moved by the Mayor, seconded by Councillor Black, that the recommendations contained in the report of the Head of Finance and Resources relating to Members' Allowances be approved.

RESOLVED:

- 1. That the Group Leaders' Allowance (other than the Leaders' Allowance) be determined based upon how many Members there are in their respective parties as set out in the report of the Head of Finance and Resources.
- 2. That Members be eligible to receive the same percentage increase in their allowances as the Council's members of staff receive each year and that this should include Dependant Carer's Allowance and Non-Councillors' Allowances.
- 3. That the issue relating to a Special Responsibility Allowance for Vice-Chairmen be deferred for further consideration by the Joint Independent Remuneration Panel at the full review in March 2015.

132. REPORT OF THE HEAD OF FINANCE AND RESOURCES - HARRIETSHAM PARISH COUNCIL - INCREASE IN NUMBER OF COUNCILLORS

It was moved by the Mayor, seconded by Councillor English, that the recommendation contained in the report of the Head of Finance and Resources relating to the proposed increase in the number of Parish Councillors on Harrietsham Parish Council be approved.

RESOLVED: That an Order be made under the Local Government and Public Involvement in Health Act 2007 to increase the number of Parish Councillors on Harrietsham Parish Council from nine to eleven.

133. <u>REPORT OF THE HEAD OF FINANCE AND RESOURCES - COMMITTEE MEMBERSHIP</u>

It was moved by the Mayor, seconded by Councillor Hogg, that the recommendation contained in the report of the Head of Finance and Resources relating to the membership of Committees be approved.

RESOLVED: That the following changes be approved to reflect the wishes of the Leader of the Independent Group:

Community, Environment and Housing Overview and Scrutiny Committee

Members

Delete Councillor Munford. Insert Councillor Newton.

Substitute Members

Delete Councillor Newton. Insert Councillor Munford.

Planning, Transport and Development Overview and Scrutiny Committee

Members

Delete Councillor Munford. Insert Councillor Mrs Gooch.

Substitute Members

Delete Councillor Mrs Gooch. Insert Councillor Munford.

134. APPOINTMENT OF MAYOR SELECT 2015/16

It was moved by Councillor Mrs Gooch, seconded by Councillor B Mortimer, supported by Councillors Sargeant, McKay and Collins and:

RESOLVED: That Councillor Daniel Moriarty be appointed as Mayor Select for the Municipal Year 2015/16.

135. APPOINTMENT OF DEPUTY MAYOR SELECT 2015/16

It was moved by Councillor Mrs Blackmore, seconded by Councillor Naghi, supported by Councillors Mrs Gooch, Sargeant and McKay and:

RESOLVED: That Councillor Derek Butler be appointed as Deputy Mayor Select for the Municipal Year 2015/16.

136. **DURATION OF MEETING**

6.30 p.m. to 9.30 p.m.

APPENDIX B

MAIDSTONE BOROUGH COUNCIL

COUNCIL TAX 2015/2016

Schedule of Council Tax Base and Additional Basic Amounts of

Council Tax in parts of the area with Parish Precepts

Parish	Tax Base	Precept	Band 'D' Tax
Barming	719.9	24,175	33.58
Bearsted	3,572.3	96,800	27.10
Boughton Malherbe	213.8	5,131	24.00
Boughton Monchelsea	1,241.6	51,600	41.56
Boxley	3,822.0	98,481	25.77
Bredhurst	173.2	8,808	50.85
Broomfield & Kingswood	697.0	55,500	79.63
Chart Sutton	409.3	20,500	50.09
Collier Street	346.2	13,163	38.02
Coxheath	1,480.0	60,350	40.78
Detling	367.0	20,603	56.14
Downswood	814.3	26,500	32.54
East Sutton	141.2	6,300	44.62
Farleigh East	646.5	31,514	48.75
Farleigh West	213.6	16,000	74.91
Harrietsham	925.3	50,892	55.00
Headcorn	1,471.5	119,028	80.89
Hollingbourne	431.9	22,600	52.33
Hunton	307.5	20,000	65.04
Langley	483.4	16,958	35.08
Leeds	318.4	28,851	90.61
Lenham	1,363.8	55,765	40.89
Linton	242.9	11,658	48.00
Loose	1,080.8	62,324	57.66
Marden	1,492.3	94,015	63.00
Nettlestead	299.8	13,769	45.93
Otham	213.4	9,180	43.02
Staplehurst	2,247.1	123,552	54.98
Stockbury	313.1	13,342	42.61
Sutton Valence	640.6	42,542	66.41
Teston	311.6	21,425	68.76
Thurnham	540.3	16,692	30.89
Tovil	1,209.0	64,000	52.94
Ulcombe	374.2	19,217	51.35
Yalding	904.1	52,723	58.32

BUDGET 2015/16

PARISH COUNCIL FUNDING FOR LOCAL COUNCIL TAX SUPPORT FUNDING

	LCTS in Tax	Loss of CT due		Proposed
Name	Base	Band D	to LCTS	Grant
Barming	27.4	32.94	903	724
Bearsted	155.3	27.12	4,212	3,376
Boughton Malherbe	12.8	23.56	302	242
Boughton Monchelsea	77.7	40.74	3,165	2,537
Boxley	125.6	24.34	3,057	2,450
Bredhurst	12.3	51.83	638	511
Broomfield & Kingswood	37.7	80.1	3,020	2,420
Chart Sutton	29	50.8	1,473	1,181
Collier Street	13.7	37.82	518	415
Coxheath	146.5	41.08	6,018	4,823
Detling	33.9	56.56	1,917	1,537
Downswood	55	30.04	1,652	1,324
East Sutton	3.5	43.86	154	123
Farleigh East	54.6	47.45	2,591	2,076
Farleigh West	18.8	65.35	1,229	985
Harrietsham	70.1	51.65	3,621	2,902
Headcorn	133.8	64.92	8,686	6,962
Hollingbourne	34.5	36.15	1,247	999
Hunton	18.4	57.1	1,051	842
Langley	54.8	35.08	1,922	1,541
Leeds	42.2	84.09	3,549	2,844
Lenham	118.2	40.89	4,833	3,873
Linton	20.6	44.12	909	728
Loose	66.8	55.02	3,675	2,945
Marden	162.3	52.74	8,560	6,860
Nettlestead	52.4	45.36	2,377	1,905
Otham	16.9	39.88	674	540
Staplehurst	156.3	54.93	8,586	6,880
Stockbury	32.6	39.5	1,288	1,032
Sutton Valence	47.1	47.45	2,235	1,791
Teston	19.6	67.41	1,321	1,059
Thurnham	9.4	30.08	283	227
Tovil	163.3	57.9	9,455	7,576
Ulcombe	24	47.5	1,140	914
Yalding	107.8	56.48	6,089	4,880

Grant	
2014/15	Difference
902	- 178
4,463	- 1,087
305	- 63
2,899	- 362
3,425	- 975
735	- 224
2,587	- 167
1,695	- 514
377	38
5,895	- 1,072
1,905	- 368
1,629	- 305
101	22
2,570	- 494
1,032	- 47
2,820	82
7,308	- 346
1,302	- 303
1,061	- 219
2,085	- 544
3,255	- 411
5,148	- 1,275
736	- 8
3,328	- 383
8,854	- 1,994
2,117	- 212
721	- 181
6,846	34
1,260	- 228
1,960	- 169
1,223	- 164
337	- 110
9,417	- 1,841
901	13
5,603	- 723

2154.9	£1,662	£102,350	£82,024

Band G

Total

Band H

Total

Band F

Total

MAIDSTONE BOROUGH COUNCIL

COUNCIL TAX 2015/2016

Schedule of Council Tax Levels for all Bands

and all Parts of the Area including District Spending and all Precepts.

Band D

Total

Band E

Total

Band C

Total

Band A

Total

1,064.29

1,063.24

1,067.88

1,029.00

Tovil

Ulcombe

Basic Level of Tax

Yalding

1,241.67

1,240.44

1,245.86

1,200.50

1,419.05

1,417.65

1,423.84

1,372.00

Band B

Total

	£	£	£	£	£	£	£	£
Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Barming	1,051.39	1,226.62	1,401.85	1,577.08	1,927.54	2,278.01	2,628.47	3,154.16
Bearsted	1,047.06	1,221.58	1,396.09	1,570.60	1,919.62	2,268.64	2,617.66	3,141.19
Boughton Malherbe	1,045.00	1,219.17	1,393.33	1,567.50	1,915.83	2,264.16	2,612.50	3,135.00
Boughton Monchelsea	1,056.71	1,232.82	1,408.94	1,585.06	1,937.29	2,289.53	2,641.77	3,170.12
Boxley	1,046.18	1,220.54	1,394.90	1,569.27	1,917.99	2,266.72	2,615.44	3,138.53
Bredhurst	1,062.90	1,240.05	1,417.20	1,594.35	1,948.65	2,302.96	2,657.26	3,188.71
Broomfield & Kingswood	1,082.08	1,262.43	1,442.78	1,623.13	1,983.82	2,344.52	2,705.21	3,246.25
Chart Sutton	1,062.39	1,239.46	1,416.52	1,593.59	1,947.72	2,301.85	2,655.98	3,187.17
Collier Street	1,054.35	1,230.07	1,405.80	1,581.52	1,932.97	2,284.42	2,635.87	3,163.04
Coxheath	1,056.18	1,232.22	1,408.25	1,584.28	1,936.34	2,288.40	2,640.46	3,168.55
Detling	1,066.43	1,244.16	1,421.90	1,599.64	1,955.11	2,310.59	2,666.06	3,199.28
Downswood	1,050.70	1,225.81	1,400.93	1,576.04	1,926.28	2,276.51	2,626.74	3,152.09
East Sutton	1,058.75	1,235.20	1,411.66	1,588.12	1,941.03	2,293.95	2,646.86	3,176.24
Farleigh East	1,061.50	1,238.41	1,415.33	1,592.25	1,946.08	2,299.91	2,653.74	3,184.49
Farleigh West	1,078.94	1,258.76	1,438.58	1,618.41	1,978.05	2,337.70	2,697.34	3,236.81
Harrietsham	1,065.67	1,243.28	1,420.89	1,598.50	1,953.72	2,308.95	2,664.17	3,197.00
Headcorn	1,082.93	1,263.41	1,443.90	1,624.39	1,985.36	2,346.34	2,707.31	3,248.78
Hollingbourne	1,063.88	1,241.20	1,418.51	1,595.83	1,950.46	2,305.08	2,659.71	3,191.65
Hunton	1,072.36	1,251.09	1,429.81	1,608.54	1,965.99	2,323.45	2,680.90	3,217.08
Langley	1,052.39	1,227.78	1,403.18	1,578.58	1,929.38	2,280.17	2,630.97	3,157.16
Leeds	1,089.41	1,270.98	1,452.54	1,634.11	1,997.25	2,360.38	2,723.52	3,268.22
Lenham	1,056.26	1,232.30	1,408.35	1,584.39	1,936.48	2,288.56	2,640.65	3,168.78
Linton	1,061.00	1,237.83	1,414.66	1,591.50	1,945.16	2,298.83	2,652.49	3,182.99
Loose	1,067.44	1,245.35	1,423.26	1,601.16	1,956.98	2,312.79	2,668.61	3,202.33
Marden	1,071.00	1,249.50	1,428.00	1,606.50	1,963.50	2,320.50	2,677.50	3,213.00
Nettlestead	1,059.62	1,236.22	1,412.82	1,589.43	1,942.63	2,295.84	2,649.05	3,178.86
Otham	1,057.68	1,233.96	1,410.24	1,586.52	1,939.08	2,291.64	2,644.20	3,173.04
Staplehurst	1,065.66	1,243.26	1,420.87	1,598.48	1,953.70	2,308.92	2,664.14	3,196.97
Stockbury	1,057.41	1,233.64	1,409.88	1,586.11	1,938.58	2,291.05	2,643.52	3,172.23
Sutton Valence	1,073.27	1,252.15	1,431.03	1,609.91	1,967.67	2,325.43	2,683.18	3,219.82
Teston	1,074.84	1,253.98	1,433.12	1,612.26	1,970.54	2,328.82	2,687.10	3,224.52
Thurnham	1,049.60	1,224.53	1,399.46	1,574.39	1,924.26	2,274.12	2,623.99	3,148.79

1,596.44

1,594.85

1,601.82

1,543.50

1,951.20

1,949.27

1,957.77

1,886.50

2,305.96

2,303.68

2,313.73

2,229.50

2,660.73

2,658.09

2,669.69

2,572.50

3,192.87

3,189.71

3,203.63

3,087.00